6.2 Evaluation of Polynomials

For a polynomial p(x), evaluation at a partic-
ular number means replacing the variable with
the number then calculating the result.

Example For p(z) = 22% 4+ 3z — 7, find p(4).
p(4) =242 +3(4) —T=32+12—-7=
44 — 7 = 37.

When evaluating a polynomial for negative
numbers, parenthesis are helpful to avoid er-
rors of sign.

Example For g(z) = 2® — 52% + 6z — 5, find
8(-2).
9(=2) = (=2)° = 5(—2)2 + 6(~2) — 5 =
—8-20—12—5 = —28—12—-5 = —40-5 =
—45.
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5. For f(z) = 32% — 52 + 6 and
g(z) = —2® 4+ 8z — 12,
find h(z) = f(z) —g(z) -
6. Simplify:
(222 — 52 4+ 9) + (42 + 2 + 3)
7. Simplify: (3z — 1) — (42 — 52 — 10)
8. Simplify:
(323 — 62% 4 5 + 4)- (222 — 3z + 10)
9. If f(x) is a fourth degree polynomial and
g(x) is a second degree polynomial, what

is the degree of the polynomial Q(x)
where Q(x) = f(x) + g(x) ?

10. Create a Tth degree polynomial with 5
terms.



